

## Research Article

**Received:** October 08, 2022  
**Revised:** December 10, 2022  
**Accepted:** December 28, 2022

DOI: 10.14456/x0xx00000x

## The differential equation in terms of Jacobsthal and Jacobsthal-Lucas numbers

Mongkol Tatong<sup>1\*</sup>

<sup>1</sup> Department of Mathematics and Computer Science, Faculty of Science and Technology, Rajamangala University of Technology Thanyaburi, Pathum Thani 12110, Thailand

\*E-mail: mongkol\_@rmutt.ac.th

### Abstract

In this paper, we study Jacobsthal sine, Jacobsthal-Lucas sine, Jacobsthal cosine, Jacobsthal-Lucas cosine, Jacobsthal tangent, Jacobsthal-Lucas tangent, Jacobsthal cotangent, Jacobsthal-Lucas cotangent, Jacobsthal secant, Jacobsthal-Lucas secant, Jacobsthal cosecant, and Jacobsthal-Lucas cosecant. Furthermore, we establish some identities of Jacobsthal sine, Jacobsthal-Lucas sine, Jacobsthal cosine, Jacobsthal-Lucas cosine, Jacobsthal tangent, Jacobsthal-Lucas tangent, Jacobsthal cotangent, Jacobsthal-Lucas cotangent, Jacobsthal secant, Jacobsthal-Lucas secant, Jacobsthal cosecant, and Jacobsthal-Lucas cosecant.

**Keywords:** differential equations, Jacobsthal number, Jacobsthal-Lucas number

### 1. Introduction

The well-known Fibonacci  $\{F_n\}$ , Lucas  $\{L_n\}$ , Pell  $\{P_n\}$ , and Pell-Lucas  $\{Q_n\}$  sequences have been found for several years.

Their Binet's formulas are  $F_n = \frac{a^n - b^n}{a - b}$ ,

$$L_n = a^n + b^n, \quad J_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad \text{and}$$

$j_n = \alpha^n + \beta^n$ , where  $n$  is an integer,

$$a = \frac{1 + \sqrt{5}}{2}, \quad b = \frac{1 - \sqrt{5}}{2} \quad \text{and} \quad \alpha = 2, \quad \beta = -1$$

are the root of the characteristic equation  $r^2 - r - 1 = 0$  and  $r^2 - r - 2 = 0$ , respectively [1,2,4]. So  $a > b$ ,  $a + b = 1$ ,  $a - b = \sqrt{5}$ ,  $ab = -2$  and  $\alpha > \beta$ ,  $\alpha + \beta = 1$ ,  $\alpha - \beta = 3$ ,  $\alpha\beta = -2$ .

Recently, the general solution of a second-order homogeneous linear differential equation in terms of numbers was studied by many authors in different ways to derive many identities. In 1964, Verner E. Hoggatt, Jr. [3] studied a general solution of a second-order homogeneous linear differential equation  $y'' - y' - y = 0$  with an initial value  $y(0) = 0$

$y'(0) = 1$ , which is defined by

$$y = \frac{e^{ax} - e^{bx}}{a - b} = \sum_{n=0}^{\infty} \frac{a^n - b^n}{a - b} \frac{x^n}{n!}, \quad (1.1)$$

where  $a = \frac{1 + \sqrt{5}}{2}$  and  $b = \frac{1 - \sqrt{5}}{2}$  are the roots of the characteristic equation  $r^2 - r - 1 = 0$ . They obtained some identities of these [5,7].

In 2016, Prasanta Kumar Ray [6] studied a general solution of a second-order homogeneous linear differential equation  $y'' - 6y' + y = 0$  with an initial value  $y(0) = 0$   $y'(0) = 1$ . The author obtained some identities of these.

The inspiration for doing this research due to the direction of this research and development. We present the general solution of a second-order homogeneous linear differential equation in terms of Jacobsthal and Jacobsthal-Lucas numbers, along with finding these identities.

## 2. Main results

In this section, we begin to give second-order homogeneous linear differential equations

$$y'' - y' - 2y = 0 \quad (2.1)$$

with initial value  $y(0) = 0$   $y'(0) = 1$  and  $y(0) = 2$   $y'(0) = 1$ , respectively.

Next, we define Jacobsthal sine and Jacobsthal-Lucas sine, which correspond to the following definition.

**Definition 2.1** Let  $\alpha > \beta$ . Then the Jacobsthal sine  $\sin J(x)$  and Jacobsthal-Lucas sine  $\sin j(x)$  are defined respectively by

$$\sin J(x) = \frac{e^{\alpha x} - e^{\beta x}}{\alpha - \beta}, \quad (2.2)$$

$$\sin j(x) = e^{\alpha x} + e^{\beta x}. \quad (2.3)$$

Note that equations (2.2) and (2.3) are the general solution of (2.1).

Also, we find some identities of Jacobsthal and Jacobsthal-Lucas numbers which correspond to the following lemma.

**Lemma 2.2** Let  $n \geq 0$  and  $\alpha = 2$ ,  $\beta = -1$ .

The following results hold.

- (i)  $J_{n+1} + 2J_{n-1} = j_n$
- (ii)  $j_{n+1} + 2j_{n-1} = 9J_n$ ,
- (iii)  $j_{n+1} + 4j_n + 2j_{n-1} + 8j_{n-2} = 9j_n$ ,

$$(iv) \alpha^n = J_n \alpha + 2J_{n-1},$$

$$(v) \beta^n = J_n \beta + 2J_{n-1}.$$

*Proof.* Since Binet's formulas, we have

$$J_{n+1} + 2J_{n-1} = \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta} + 2 \frac{\alpha^{n-1} - \beta^{n-1}}{\alpha - \beta}$$

$$= \alpha^n + \beta^n$$

$$= j_n.$$

$$j_{n+1} + 2j_{n-1} = \alpha^{n+1} + \beta^{n+1} + 2(\alpha^{n-1} + \beta^{n-1})$$

$$= (\alpha - \beta)^2 \left( \frac{\alpha^n - \beta^n}{\alpha - \beta} \right)$$

$$= 9J_n.$$

$$j_{n+1} + 4j_n + 2j_{n-1} + 8j_{n-2}$$

$$= \alpha^{n+1} + \beta^{n+1} + 4(\alpha^n + \beta^n) + 2(\alpha^{n-1} + \beta^{n-1}) + 8(\alpha^{n-2} + \beta^{n-2})$$

$$= (\alpha - \beta)^2 (\alpha^n + \beta^n)$$

$$= 9j_n.$$

Next, If  $n = 0$ , then the proof is obvious. Next, we will be shown by mathematical induction that  $\alpha^n = J_n \alpha + 2J_{n-1}$  for  $n \in \mathbb{N}$ . Since  $J_1 \alpha + 2J_0 = \alpha$ , it follows that  $n = 1$  is true. Assume that the result is true for the positive integer,  $n = k$ . Then  $\alpha^k = J_k \alpha + 2J_{k-1}$ . Now, we need to show that (iv) also holds for  $n = k + 1$  as follows:

$$\begin{aligned} \alpha^{k+1} &= \alpha^k \alpha \\ &= (J_k \alpha + 2J_{k-1}) \alpha \\ &= J_k \alpha^2 + 2J_{k-1} \alpha \\ &= J_k (\alpha + 2) + 2J_{k-1} \alpha \\ &= J_k \alpha + 2J_k + 2J_{k-1} \alpha \\ &= J_k \alpha + 2J_{k-1} \alpha + 2J_k \\ &= (J_k + 2J_{k-1}) \alpha + 2J_k \\ &= J_{k+1} \alpha + 2J_k. \end{aligned}$$

Thus,  $n = k + 1$  is true. The similar proof of (iv) is applied for (v). Therefore, the proof is complete.

After that, we find undetermined coefficients of the Maclaurin series, the general

solution of second-order homogeneous linear differential equations, as follows.

**Lemma 2.3** Let  $n \geq 0$ . Then the recurrence

relation  $c_n$  is given by

$$(n+2)(n+1)c_{n+2} - (n+1)c_{n+1} - 2c_n = 0.$$

*Proof.* Let the Maclaurin series

$$y = \sum_{n=0}^{\infty} c_n x^n. \quad (2.4)$$

Since the differentiation of equation (2.4), we have

$$y' = \sum_{n=1}^{\infty} n c_n x^{n-1} \quad (2.5)$$

and

$$y'' = \sum_{n=2}^{\infty} n(n-1)c_n x^{n-2}. \quad (2.6)$$

By using equations (2.4), (2.5), and (2.6) in (2.1), we obtain

$$\begin{aligned} \sum_{n=2}^{\infty} n(n-1)c_n x^{n-2} - \sum_{n=1}^{\infty} n c_n x^{n-1} - 2 \sum_{n=0}^{\infty} c_n x^n &= 0 \\ \sum_{n=0}^{\infty} (n+2)(n+1)c_{n+2} x^n - \sum_{n=0}^{\infty} (n+1)c_{n+1} x^n & \\ - 2 \sum_{n=0}^{\infty} c_n x^n &= 0 \\ \sum_{n=0}^{\infty} [(n+2)(n+1)c_{n+2} - (n+1)c_{n+1} - 2c_n] x^n & \\ &= 0. \end{aligned}$$

Thus,

$$(n+2)(n+1)c_{n+2} - (n+1)c_{n+1} - 2c_n = 0.$$

Therefore, the proof is complete.

**Lemma 2.4** Let  $n \geq 0$ . The following results hold.

$$c_n = \frac{J_n c_1 + 2J_{n-1} c_0}{n!}, \quad (2.7)$$

$$c_n = \frac{(2j_{n-1} + j_{n+1})c_1 + 2(2j_{n-2} + j_n)c_0}{9n!}. \quad (2.8)$$

*Proof.* If  $n = 0$ , then  $\frac{J_0 c_1 + 2J_{-1} c_0}{0!} = c_0$  the

proof is obvious. Next, we will be shown that

$$c_n = \frac{J_n c_1 + 2J_{n-1} c_0}{n!} \text{ for } n \in \mathbb{N}.$$

It is not hard to see that  $\frac{J_1 c_1 + 2J_0 c_0}{1!} = c_1$ . Thus (2.7) holds

$n = 1$ . Let us assume that the equality in (2.7)

holds for all  $n \leq k \in \mathbb{N}$  by iterating this procedure and considering induction steps. To finish the proof. We must show that (2.7) also holds  $n = k+1$  by considering Lemma 2.3. Thus

$$\begin{aligned} c_{k+1} &= \frac{k c_k + 2c_{k-1}}{k(k+1)} \\ &= \frac{k \left( \frac{J_k c_1 + 2J_{k-1} c_0}{k!} \right) + 2 \left( \frac{J_{k-1} c_1 + 2J_{k-2} c_0}{(k-1)!} \right)}{k(k+1)} \\ &= \frac{J_k c_1 + 2J_{k-1} c_0 + 2(J_{k-1} c_1 + 2J_{k-2} c_0)}{(k+1)!} \\ &= \frac{(J_k + 2J_{k-1})c_1 + 2(J_{k-1} + 2J_{k-2})c_0}{(k+1)!} \\ &= \frac{J_{k+1} c_1 + 2J_k c_0}{(k+1)!}. \end{aligned}$$

Thus,  $n = k+1$  is true. The similar proof of (2.7) is applied for (2.8). Therefore, the proof is complete.

Now, we find  $\sin J(x)$  and  $\sin j(x)$  in terms of sums, which corresponds to the following theorem.

**Theorem 2.5** Let  $n \geq 0$ . Then  $\sin J(x)$  and  $\sin j(x)$  are given respectively by

$$\sin J(x) = \sum_{n=0}^{\infty} J_n \frac{x^n}{n!}, \quad (2.9)$$

$$\sin j(x) = \sum_{n=0}^{\infty} j_n \frac{x^n}{n!}. \quad (2.10)$$

*Proof.* Let  $y = \sum_{n=0}^{\infty} c_n x^n$ , we have

$$y = c_0 + c_1 x + \frac{J_2 c_1 + 2J_1 c_0}{2!} x^2 + \dots + \frac{J_n c_1 + 2J_{n-1} c_0}{n!} x^n + \dots \quad (2.11)$$

and

$$y' = c_1 + (J_2 c_1 + 2J_1 c_0)x + \dots + \frac{J_n c_1 + 2J_{n-1} c_0}{(n-1)!} x^{n-1} + \dots \quad (2.12)$$

By using initial values  $y(0) = 0$ ,  $y'(0) = 1$  in (2.11) and (2.12), we obtain

$$c_0 = 0 \text{ and } c_1 = 1. \quad (2.13)$$

By using (2.13) in (2.11), we get

$$y = x + \frac{J_2}{2!} x^2 + \dots + \frac{J_n}{n!} x^n + \dots = \sum_{n=0}^{\infty} J_n \frac{x^n}{n!}.$$

Thus,  $\sin J(x) = \sum_{n=0}^{\infty} J_n \frac{x^n}{n!}$ . The similar proof of (2.9) is applied for (2.10). Therefore, the proof is complete.

Then, we define Jacobsthal cosine  $\cos J(x)$  and Jacobsthal-Lucas cosine  $\cos j(x)$  by using derivatives, which correspond to the following definition.

**Definition 2.6** Let  $\alpha > \beta$ . Then the Jacobsthal cosine  $\cos J(x)$  and Jacobsthal-Lucas cosine  $\cos j(x)$  are defined respectively by

$$\cos J(x) = \frac{\alpha e^{\alpha x} - \beta e^{\beta x}}{\alpha - \beta}, \quad (2.14)$$

$$\cos j(x) = \alpha e^{\alpha x} + \beta e^{\beta x}, \quad (2.15)$$

Moreover, we find  $\cos J(x)$  and  $\cos j(x)$  in terms of sums, which corresponds to the following theorem.

**Theorem 2.7** Let  $n \geq 0$ . Then  $\cos J(x)$  and  $\cos j(x)$  are given respectively by

$$\cos J(x) = \sum_{n=0}^{\infty} J_{n+1} \frac{x^n}{n!}, \quad (2.16)$$

$$\cos j(x) = \sum_{n=0}^{\infty} j_{n+1} \frac{x^n}{n!}. \quad (2.17)$$

*Proof.* Since Theorem 2.4, we have

$$\begin{aligned} \frac{d}{dx} \sin J(x) &= \frac{d}{dx} \sum_{n=0}^{\infty} J_n \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} J_n \frac{d}{dx} \frac{x^n}{n!} \\ &= \sum_{n=1}^{\infty} J_n \frac{x^{n-1}}{(n-1)!} \\ &= \sum_{n=0}^{\infty} J_{n+1} \frac{x^n}{n!}. \end{aligned}$$

Thus,  $\cos J(x) = \sum_{n=0}^{\infty} J_{n+1} \frac{x^n}{n!}$ . The similar

proof of (2.9) is applied for (2.10). Therefore, the proof is complete.

Furthermore, we find Jacobsthal tangent, Jacobsthal-Lucas tangent, Jacobsthal cotangent, and Jacobsthal-Lucas cotangent, which corresponds to the following lemma definition and theorem.

**Lemma 2.8** For all real numbers  $x$ . The following results hold.

- (i)  $\cos J(x) \neq 0$ ,
- (ii)  $\cos j(x) \neq 0$ ,
- (iii)  $\sin J(x) \neq 0$ ,
- (iv)  $\sin j(x) \neq 0$ .

*Proof.* Suppose that  $\cos J(x) = 0$ , then

$$\frac{\alpha e^{\alpha x} - \beta e^{\beta x}}{\alpha - \beta} = 0. \quad \text{It follows that}$$

$\alpha e^{\alpha x} - \beta e^{\beta x} = 0$ . So  $\alpha e^{\alpha x} = \beta e^{\beta x}$ . Therefore  $\alpha = \beta$ . But  $\alpha > \beta$ , we have a contradiction.

Thus  $\cos J(x) \neq 0$ , for all real numbers  $x$ .

The similar proof of (i) is applied for (ii), (iii), and (iv). Therefore, the proof is complete.

**Definition 2.9** Let  $\alpha > \beta$ . Then the Jacobsthal tangent  $\tan J(x)$ , Jacobsthal-Lucas tangent  $\tan j(x)$ , Jacobsthal cotangent  $\cot J(x)$ , and Jacobsthal-Lucas cotangent  $\cot j(x)$  are defined respectively by

$$\tan J(x) = \frac{\sin J(x)}{\cos J(x)} = \frac{e^{\alpha x} - e^{\beta x}}{\alpha e^{\alpha x} - \beta e^{\beta x}}, \quad (2.18)$$

$$\tan j(x) = \frac{\sin j(x)}{\cos j(x)} = \frac{e^{\alpha x} + e^{\beta x}}{\alpha e^{\alpha x} + \beta e^{\beta x}}, \quad (2.19)$$

$$\cot J(x) = \frac{\cos J(x)}{\sin J(x)} = \frac{\alpha e^{\alpha x} - \beta e^{\beta x}}{e^{\alpha x} - e^{\beta x}}, \quad (2.20)$$

$$\cot j(x) = \frac{\cos j(x)}{\sin j(x)} = \frac{\alpha e^{\alpha x} + \beta e^{\beta x}}{e^{\alpha x} + e^{\beta x}}. \quad (2.21)$$

**Theorem 2.10** Let  $n \geq 0$ . Then  $\tan J(x)$ ,  $\tan j(x)$ ,  $\cot J(x)$ , and  $\cot j(x)$  are given respectively by

$$\tan J(x) = -\frac{\beta}{2} + \frac{\beta^2 + 4\beta}{4} \sum_{n=0}^{\infty} (-1)^n \frac{(J_n \beta + 2J_{n-1})^2}{2^n} e^{-(n+1)(\alpha-\beta)x}, \quad (2.22)$$

$$\tan j(x) = -\frac{\beta}{2} - \frac{\beta^2 + 4\beta}{324} \sum_{n=0}^{\infty} \frac{(2j_{n-1}\beta + j_{n+1}\beta + 4j_{n-2} + 2j_n)^2}{2^n} e^{-(n+1)(\alpha-\beta)x}, \quad (2.23)$$

$$\cot J(x) = -\frac{t}{\beta} - \frac{\beta + 4}{\beta} \sum_{n=0}^{\infty} e^{-(n+1)(\alpha-\beta)x}, \quad (2.24)$$

$$\cot j(x) = -\frac{t}{\beta} + \frac{\beta + 4}{\beta} \sum_{n=0}^{\infty} (-1)^n e^{-(n+1)(\alpha-\beta)x}. \quad (2.25)$$

*Proof.* Since (2.18), we have

$$\tan J(x) = \frac{e^{\alpha x} - e^{\beta x}}{\alpha e^{\alpha x} - \beta e^{\beta x}}$$

$$\begin{aligned} &= \frac{\beta}{2} \left( \frac{-1 + e^{(\beta-\alpha)x}}{1 + \frac{\beta^2}{2} e^{(\beta-\alpha)x}} \right) \\ &= \frac{\beta}{2} \left( -1 + \frac{\beta + 4}{2} e^{(\beta-\alpha)x} - \frac{\beta + 4}{2} \frac{\beta^2}{2} e^{2(\beta-\alpha)x} + \dots \right) \\ &= -\frac{\beta}{2} + \frac{\beta^2 + 4\beta}{4} e^{(\beta-\alpha)x} - \frac{\beta^2 + 4\beta}{4} \frac{\beta^2}{2} e^{2(\beta-\alpha)x} + \dots \\ &= -\frac{\beta}{2} + \frac{\beta^2 + 4\beta}{4} \sum_{n=0}^{\infty} (-1)^n \frac{\beta^{2n}}{2^n} e^{-(n+1)(\alpha-\beta)x}. \end{aligned}$$

Thus,  $\tan J(x) =$

$$-\frac{\beta}{2} + \frac{\beta^2 + 4\beta}{4} \sum_{n=0}^{\infty} (-1)^n \frac{(J_n \beta + 2J_{n-1})^2}{2^n} e^{-(n+1)(\alpha-\beta)x}.$$

The similar proof of (2.18) is applied for (2.19), (2.20), and (2.21). Therefore, the proof is complete.

Next, we find Jacobsthal secant, Jacobsthal-Lucas secant, Jacobsthal cosecant, and Jacobsthal-Lucas cosecant, which corresponds to the following definition and theorem.

**Definition 2.11** Let  $\alpha > \beta$ . Then the Jacobsthal secant  $\sec J(x)$ , Jacobsthal-Lucas secant  $\sec j(x)$ , Jacobsthal cosecant  $\operatorname{cosec} J(x)$ , and Jacobsthal-Lucas cosecant  $\operatorname{cosec} j(x)$  are defined respectively by

$$\sec J(x) = \frac{1}{\cos J(x)} = \frac{\alpha - \beta}{\alpha e^{\alpha x} - \beta e^{\beta x}}, \quad (2.26)$$

$$\sec j(x) = \frac{1}{\cos j(x)} = \frac{1}{\alpha e^{\alpha x} + \beta e^{\beta x}}, \quad (2.27)$$

$$\operatorname{cosec} J(x) = \frac{1}{\sin J(x)} = \frac{\alpha - \beta}{e^{\alpha x} - e^{\beta x}}, \quad (2.28)$$

$$\operatorname{cosec} j(x) = \frac{1}{\sin j(x)} = \frac{1}{e^{\alpha x} + e^{\beta x}}. \quad (2.29)$$

**Theorem 2.12** Let  $n \geq 0$ . Then  $\sec J(x)$ ,  $\sec j(x)$ ,  $\operatorname{cosec} J(x)$ , and  $\operatorname{cosec} j(x)$  are given respectively by

$$\sec J(x) = \left( \frac{3}{\alpha e^{\alpha x} - \beta e^{\beta x}} \right)^2 \sum_{n=0}^{\infty} J_{n+1} \frac{x^n}{n!}, \quad (2.30)$$

$$\sec j(x) = \frac{1}{(\alpha e^{\alpha x} + \beta e^{\beta x})^2} \sum_{n=0}^{\infty} j_{n+1} \frac{x^n}{n!}, \quad (2.31)$$

$$\cos ec J(x) = \left( \frac{3}{\alpha e^{\alpha x} - \beta e^{\beta x}} \right)^2 \sum_{n=0}^{\infty} J_n \frac{x^n}{n!}, \quad (2.32)$$

$$\cos ec j(x) = \frac{1}{(e^{\alpha x} + e^{\beta x})^2} \sum_{n=0}^{\infty} j_n \frac{x^n}{n!}. \quad (2.33)$$

*Proof.* The proof of Theorem 2.10 is applied for (2.30), (2.31), (2.32), and (2.33).

Finally, we find some identities of the Jacobsthal sine, Jacobsthal-Lucas sine, Jacobsthal cosine, Jacobsthal-Lucas cosine, Jacobsthal tangent, Jacobsthal-Lucas tangent, Jacobsthal cotangent, Jacobsthal-Lucas cotangent, Jacobsthal secant, Jacobsthal-Lucas secant, Jacobsthal cosecant, and Jacobsthal - Lucas cosecant, which corresponds to the following definition and theorem.

**Theorem 2.13** Let  $\alpha > \beta$ . The following results hold.

- (i)  $\cos J^2(x) - \sin J(x) \cos J(x) - 2 \sin J^2(x) = e^x$ ,
- (ii)  $\cos j^2(x) - \sin j(x) \cos j(x) - 2 \sin j^2(x) = -9e^x$ ,
- (iii)  $e^x \sec J^2(x) + \tan J(x) + 2 \tan J^2(x) = 1$ ,
- (iv)  $-9e^x \sec j^2(x) + \tan j(x) + 2 \tan j^2(x) = 1$ .

*Proof.* Since (2.2) and (2.14), we have

$$\begin{aligned} & \cos J^2(x) - \sin J(x) \cos J(x) - 2 \sin J^2(x) \\ &= \left( \frac{\alpha e^{\alpha x} - \beta e^{\beta x}}{e^{\alpha x} - e^{\beta x}} \right)^2 \\ & - \left( \frac{e^{\alpha x} - e^{\beta x}}{e^{\alpha x} - e^{\beta x}} \right) \left( \frac{\alpha e^{\alpha x} - \beta e^{\beta x}}{e^{\alpha x} - e^{\beta x}} \right) - 2 \left( \frac{e^{\alpha x} - e^{\beta x}}{e^{\alpha x} - e^{\beta x}} \right)^2 \\ &= e^x. \end{aligned}$$

Thus,

$$\begin{aligned} & \cos J^2(x) - \sin J(x) \cos J(x) - 2 \sin J^2(x) \\ &= e^x, \text{ The proof of (i) is applied for (ii), (iii),} \\ & \text{and (iv). by using (2.3), (2.15), (2.18), (2.26),} \\ & \text{and (2.27). Therefore, the proof is complete.} \end{aligned}$$

### 3. Conclusions

In this paper, we investigate Jacobsthal sine, Jacobsthal-Lucas sine, Jacobsthal cosine, Jacobsthal-Lucas cosine, Jacobsthal tangent, Jacobsthal-Lucas tangent, Jacobsthal cotangent, Jacobsthal-Lucas cotangent, Jacobsthal secant, Jacobsthal-Lucas secant, Jacobsthal cosecant, and Jacobsthal-Lucas cosecant. Furthermore, we obtain some identities of Jacobsthal sine, Jacobsthal-Lucas sine, Jacobsthal cosine, Jacobsthal-Lucas cosine, Jacobsthal tangent, Jacobsthal-Lucas tangent, Jacobsthal cotangent, Jacobsthal-Lucas cotangent, Jacobsthal secant, Jacobsthal-Lucas secant, Jacobsthal cosecant, and Jacobsthal-Lucas cosecant.

### Acknowledgments

The author would like to thank the faculty of science and technology, Rajamangala University of Technology Thanyaburi (RMUTT), Thailand, for the financial support. Furthermore, the author would like to thank the referees for their valuable suggestions and comments, which helped improve the quality and readability of the paper.

### References

1. Cook CK, Bacon MR. Some identities for Jacobsthal and Jacobsthal-Lucas numbers satisfying higher order recurrence relations. *Ann. Math. Inform.* 2013; 41: 27-39.
2. Daykin DE, Dresel LAG. Identities for Products of Fibonacci and Lucas Numbers. *Fq.Math.Ca.* 1967; 5(4): 367 -370.
3. Hoggatt VE. Fibonacci Numbers from a Differential Equation. *Fq.Math.Ca.* 1964; 2(3): 176.
4. Horadam AF. A Generalized Fibonacci Sequence. *Am. Math. Mon.* 1961; 68(5): 455-459.
5. Kovacs I. An Analytic Aspect of the Fibonacci Sequence. *Al.Journal.Math.* 2002; 18(2): 17-21.
6. Ray PK. A Trigonometry Approach to Balancing Numbers and Their Related Sequences. *Sigmae.* 2016; 5(2): 1-6.
7. Smith RM. Introduction to analytic fibonaccimetry. *Al.Journal.Math.* 2002; 25(2): 27-36.